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229mm 32 8 12 9
47 7 4,700m*/s
2,700m*/sec 300m*/se 300m*/s
2,400m*/sec 4,400m/s
250mm 32 8
47 7
4,500m°/ sec 300m’/
4,200m’/sec
m7s mis m'/s m'/s m'/s
m7s
4,700 300 4,400
2,700 300 2,400
4,500 300 4,200
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(km) T.P.(m) m
(km) T.P.(m)
49.2 97.40 110
64.1 151.37
32.8 30.73 140
49.2 97.37
15.8 9.27 170
21.8 14.03
0.0 4.02 450
15.7 9.24 6.20
0.0 6.20 12.96 140
4.02m 3.2
3.2 12.92
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2.3misec

6.93m'/s

20
10.20m*/s

58
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0.51m3/s

-13 -




& o 1y (72Tm)

NN

i
2m;‘1n| "'i_
i

HreEE

PERIF L

i)

-\\--—._f’&

FHEL (629n)

FL #l
B 22ns
@ IThs
— EWI R
———
[ 1 XEEEEM

-14 -



